16

12

30
ST
(48
OH)
208

211
(12
OH)
52

10
(6
OH)
30

6onee 39 Hen

(6
OH)
22

1]

211
(12
OH)
52

(6
OH)
30

1]

6onee 39 Hen

(6
OH)
22

1]

211
(12
OH)
52

1]
(6
OH)

30

6onee 39 Hen

1]
(6
OH)
22

211
(12
OH)
52

(6
OH)
30

101

6onee 39 Hen

(6
OH)
22

101

Hepaboune npa3gHuyHble aHW (He

MoaroTtoBka K caaye u caada
rocyAapCTBEHHOro 3K3aMeHa
BKJ1OHAsi BOCKpPECeHbS)

Jumit R ke a
.wN-NN m 7//7//7
2 [re-st ﬁ///i//,i//,i |
< |¥T-8 Mi%i%i%////ﬂi%i
S ERERENE £ -
= a ..i Wﬁ/7/7/7/7 ! m 3
= A L M
mﬁ//f//f//f//f i 28 T
s -NH-o mﬁ y m. S
L mEEEE I
R[] o2 e
Elersal | 1L 1 | S -
Zm//// s g
I mﬁ//f//f//f//f [ ] M
SZ-61| R r i m 9
8T ..Nﬁ mﬁ m -
- mﬁlii,! O
,mw 12 ..mﬂ mﬁ , ﬁ Wm :
N 7/ /,//,//, N N
1=
£ 6-¢ ©
8=z £
mw S QNWON m =
e : s g
wmﬁwmﬂﬁmw et 8
§ W Emmmm.o.m | ¢ [ ¢ [ « - W M
meﬁm = 5 g
Acfecotg v~~~ 1-] o —
sHEES g~ 1==]z]>]| @
%m = si=8= @ I Bl e O //

(He BkNoYas Hepaboumne npasgHUYHbIE OHW U

H Haquble nccnenoBaHus
KaHWKyIbl)

D [2k3aMeHauMOHHblE ceccun
MpoaomkuTenbHOCTbL 06ydeHns [

K |KaHukynbl
WToro
AcnnpaHToB
Cparowmx KaHg 3K3
CovckaTenen ¢ pykoB

r
%




N3yvatowmx ¢

Mpynn




